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@ X
(e}
oM »
“uoc ”IL% £
3 8
A
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. ESP 0-7 nm
t 2.0 7
> N
£ 1.5F i ; .
g L % $ -
c 1.0 " j
..m r S f%'ll —y =
£ 05L
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
I m0|uw nm
C 2.25F 3
~ E =
= 1.75E =
E E 3 3
o 1.25F E
Q E E
.2 0.75F =
N :
£ o2sE 3
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XX 13.28 nm (log T=6.97)
t 2.25[0 7
> .
€ 1.75F .
o r ]
€ 1.25F .
5 C ]
£ 075t -
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. Fe XVIIl 9.39 nm (log T=6.81)
t 2.25[0 7
> .
€ 1.75F .
v C ]
€ 1.25F .
5 C ]
£ 07sL N
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)

Fe XVI 33.54 nm (log T=6.43)

c 0.065[ ]
SR :
€ 0.060 .
o C ]
€ 0.055 .
..w - -
£ 0.050C ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XIV 21.13 nm (log T=6.27)
t 2.25[0 7
> .
€ 1.75F .
o r ]
€ 1.25F .
..w - -
£ 0.75L .
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XIl 19.51 nm (log T=6.13)
t 2.25[0 7
> .
€ 1.75F .
o C ]
€ 1.25F .
..w - -
£ 0.75L .
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. Fe IX 17.11 nm (log T=5.81)
t 2.25[0 7
> .
€ 1.75F .
o r ]
€ 1.25F .
3 r ]
£ 0.75L .
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N He Il 30.38 nm (log T=4.70)
t 2.25[0 7
> .
€ 1.75F .
o r ]
€ 1.25F .
5 L ]
2 0.75L ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



A ESP 0—7 nm
; 20 : & :
€ 15E % -
s E fa i E
S 1.0 _ Aﬂ i 15‘
.5 0.5 E ~ \ I " A‘-a
2 0.
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E ESP 17.1 nm
> 0827F 3
E 0813 ] y ~ =
0] w -
$ osoo s % e N -
2 0.787E
el
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E ESP 25.7 nm
> 0.535 3
E 0521 =
8 0.508 =
£ 0.495
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
NE ESP 30.4 nm
; 0.96: + :
E oasFE A =
() - -
g 0.92 7
2 090F g it o A 3
e
S 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
A ESP 36.6 nm
> -
c -
~ . H ]
v ol AR : 3
5 o Pl JF G .
2 ; =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
NE MEGS—P 121.6 nm
= 8.3 -y -
E 82F =
() - -
g 8.1 E =
2 80 =
©
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)

Irradiance (mW/m?)

ks Fe XX 13.28 nm (log T=6.97)
> 2.25F =
E 175E =
[N - 3
0 1.25
© = =
s = =
2 075k -
e
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ Fe XX 72.16 nm (log T=6.96)
> 0.0016F =
E 0.0014 e
[0} -
9 0.0012
< - 3
2 0.0010E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
Fe XX 56.79 nm (log T=6.96)
1.50x107*F ¥ =
1.45x1073 p -
1.4O><1O'3E =
1.35x107°E W =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
Fe XIX 59.22 nm (log T=6.89)
1.06x107°F =
9.96x107* i =
9.30x107* = . E
8.63><1O"E -
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
ks Fe XVIIl 9.39 nm (log T=6.81)
> 2.25F =
E 175E =
[N - 3
0 1.25
© = =
s = =
2 075k -
e
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e S XIV 44.57 nm (log T=6.44)
> 0.0016F 3
E 0.0015F 3
8 0.0014F =
= N - =
2 0.0013E =
2 18:00 22:00 02:00 06:00 10:00 14:00 22:00 02:00 06:00
- Time (UT)
E Fe XVI 36.08 nm (log T=6.43)
> 0.0413F =
E 0.0387F =
) - 3
9 0.0360 . &
c - =
2 0.0333E o =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XVI 33.54 nm (log T=6.43)
> 0.065F =
E 0.060f e
[ - 3
O 0.055
= - -
£ 0.050E =
2 18:00 22:00 02:00 06:00 10:00 14:00 22:00 02:00 06:00

Time (UT)



Time (UT)

ks Fe XV 28.42 nm (log T=6.30)
> 2.25F =
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= Si XIl 49.94 nm (log T=6.29)
= 0.0265 3
c E ﬁ.‘_ =
E 0.0260F =
$ 0.0255F =
-2 0.0250E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Si XIl 52.10 nm (log T=6.28)
> 0.0090F 3
E 0.0088 4 3
[0} - -
8 0.0086 F % 3
-2 0.0084 E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe XIV 21.13 nm (log T=6.27)
> 2.25F =
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe Xl 20.20 nm (log T=6.19)
> 2.25F =
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XIl 19.51 nm (log T=6.13)
> 2.25F =
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Mg X 60.98 nm (log T=6.10)
> 0.018F =
E 0017 =
8 0.016F =
2 0015k =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe XI 18.04 nm (log T=6.07)
> 2.25F =
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Mg X 62.49 nm (log T=6.05)

Time (UT)

£
S 0.0170F E
E 0.0165F 4 : 3
S 0.0160F =
2 0.0155E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= Mg IX 36.81 nm (log T=5.99)
> 0.0657F =
E 0.0643F oo oy =
$ 0.0630 F =
2 0.0617 =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe X 17.72 nm (log T=5.99)
> 2.25F =
E 175 =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Ne VIl 77.04 nm (log T=5.81)
> 0.016F =
E — +4_ —
£ o015 3 =
[ w =
Q 0.014E | =
£ 0.013E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe IX 17.11 nm (log T=5.81)
> 2.25F =
E 175 =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Ne VIl 46.52 nm (log T=5.71)
> 0.01633F N =
E 0.01567F * =
[0} - i 4 =
© 0.01500 Q&w =
2 0.01433 =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Fe VIl 13.12 nm (log T=5.57)
> 2.25F =
E 175 =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e O VI 103.19 nm (log T=5.47)
> 0.085F . 3
E 0.080F E
[ - =
0 0.075E % =
£ 0.070 =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Irradiance (mW/m?)

E O V 62.97 nm (log T=5.37)
> 0.075F ; =
E 0.070F $ =
8 0.065 F ’\A‘ﬁ =
2 0.060E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ O IV 79.02 nm (log T=5.19)
> 0.0145F 1r =
E 0.0140F T =
$ 0.0135F e K ]
2 0.0130k Mk =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O IV 55.44 nm (log T=5.19)
> 0.0297F ¥ =
E 0.0283F i e
$ 0.0270F % =
2 0.0257E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ O Il 59.96 nm (log T=4.92)
> 0.0056F =
E 0.0054F =
$ 0.0052F =
-2 0.0050 =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
O Il 52.58 nm (log T=4.92)
2.97x107°FE " 3
2.83x107°F 1 =
2.70x107F 5 e =
2.57x107°E 2 =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
e C Il 97.70 nm (log T=4.84)
> 0.207F " 3
c - + -
E 0.193F =
8 0.180F ;@L“ =
£ 0.167 =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= He Il 25.63 nm (log T=4.75)
> 2.25F =
E 175 =
8 1.25F =
< = =
2 075k =
e
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= He Il 30.38 nm (log T=4.70)
> 2.25F =
E 175 =
8 1.25F =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)

Time (UT)

E O Il 83.55 nm (log T=4.52)
> 0.0367F : =
E 0.0353F =
$ 0.0340F =
2 0.0327 =
2 18:00 22:00 02:00 06:00 10:00 14:00 22:00 02:00 06:00
- Time (UT)
O Il 71.85 nm (log T=4.48)
2.87x1073F " 3
2.73x1073F R T =
2.60x10'~"a'E = ]
2.47x107° A =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
€ He | 58.43 nm (log T=4.16)
> 0.072F =
€ = % 3
E 0.067 m -
S 0.062F : =
£ 0.057E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E H 1 102.57 nm (log T=3.84)
= 0.100F G E ] =
E o098 E
8 0.096 =
£ 0.094E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e H 1 97.25 nm (log T=3.84)
> 0.02180F =
E 0.02114F =
$ 0.02047F i
-2 0.01980 =
g 18:00 22:00 02:00 06:00 10:00 14:00 22:00 02:00 06:00
- Time (UT)
E H 1 94.97 nm (log T=3.84)
> 0.013F =
£ 0012F =
S 0.011 =
£ 0.010E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E He | 53.70 nm (log T=3.84)
> 0.00707F =
E 0.00680 F : =
8 0.00654F % =
-2 0.00627 =
g 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?) Irradiance (mW/m?)

Irradiance (mW/m?)

AlA 94 Channel

225F ]
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 131 Channel
225F ]
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 171 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlIA 193 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 211 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlA 304 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlIA 335 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?)

Irradiance (mW/m?)

MEGS ESP 17.1 nm

2.25F =
1.75F -
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 25.7 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 30.4 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 36.6 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)  Irradiance (mW/m?
Irradiance (mW/m?)  Irradiance (mW/m?) (mW/m?) (mw/m?)

Irradiance (mW/m?)

Time (UT)

MEGS—A1
1.25F -
0.75F E
0.25F =
— - —
-0.25E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS—A2
1.25F -
0.75F E
0.25F =
— - —
-0.25E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS—B Short
0.37F ¥ 3
0.36F X =
0.35F N&‘T =
0.34k =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS—B Middle
0.26 F ¥ =
— + —
0.25 W -
0.24 =
0.23E | 3
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS—-B Long
1.02E -
0.97F " 1 -
0.93F %'7 =
0.88E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



